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Mo KAMARE (A - BAI|A/MATE - DT

EIl: A - UMY SH F1:&3)

SH-FHH . o(300) - NBAY - BES Ol &k ou J| = o Hmz2

= 10,252,000 10,205,500 26,500

[ 5,772,500 5,622,500 150,000

HSH0IR 518 1= XIR(2D) 1,170,000 1,124,000 46,000

= 870,000 824,000 46,000

L= 300,000 300,000 0

403 XHXISHIS XH=O0I& 1,170,000 1,124,000 46,000

= 870,000 824,000 46,000

& 300,000 300,000 0

01 AXIEHMIAt2E = 1,170,000 1,124,000 46,000

OFSHIOIR 32eF 23t 1,170,000 1,124,000 46,000

= 870,000 824,000 46,000

= 300,000 300,000 0

D2IHH0IR 518 & XIR(2D) 785,000 784,500 500

= 635,000 634,500 500

= 150,000 150,000 0

403 RHXISHIS XH=0I& 785,000 784,500 500

= 635,000 634,500 500

& 150,000 150,000 0

01 XXISHHIX=EE 785,000 784,500 500

ONEILI0IR 58 = 785,000 784,500 500

2 635,000 634,500 500

= 150,000 150,000 0

U7 DISH AHHA AHZZ(2IEFX) 150,000 0 150,000

402 QIR0 150,000 0 150,000

01 QIR=EE 150,000 0 150,000

OUT DISHMHHEA ALK 2= 150,000 0 150,000

AATH - ITAY 4 6,076,570 5,979,300 97,270

= 4,575,000 4,475,000 100,000

< 1,501,570 1,504,300 22,730

ZoIX0F MM S8 XIR(2D) 2,692,000 2,592,000 100,000

= 2,192,000 2,092,000 100,000

= 500,000 500,000 0

403 XHXISHI S XHE0I& 2,692,000 2,592,000 100,000

2 2,192,000 2,092,000 100,000

[ 500,000 500,000 0

01 XXISHIXERE 2,692,000 2,592,000 100,000

OZ2tXD} JI8 LI AT 2EAI S} J|BRS 2,692,000 2,592,000 100,000

2 2,192,000 2,092,000 100,000

= 500,000 500,000 0

ITAY S48 X (BIEFXIN) 81,570 84,300 22,730

402 QIZHXHZ0|H 66,570 69,300 22,730

01 QIIR=EE 66,570 69,300 22,730

OADIESXIZRIAIAE SMHL XI& 66,570 69,300 22,730
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